mean

0.32

0.31-

0.30

0.29-

0.28+

value

50%

0.32 1

0.31+

0.30-

0.29

-16

theta[1]

sd

0.110~

0.105 -

0.100 -

0.095 -

97.5%

0.51+

0.50+

0.49 +

0.48

0.47 4

-16

9 -6
log10(abs_tol)

2.5%

0.125

0.100 -

0.075

0.050 -

chains

—— chain:1
—— chain:2
—— chain:3

—— chain:4



value

mean

0.045 -

0.040

0.035

0.030 -

50%

0.050+

0.045 -

0.040 -

0.035 -~

0.030 -

-16

theta[2]

sd

0.045 -

0.042 -

0.039 -

97.5%

0.128

0.124 4

0.120 -

0.116

9 -6
log10(abs_tol)

-3-2

2.5%

-0.03 -

—-0.04 -

—-0.05-

—0.06 -

chains

—— chain:1
—— chain:2
—— chain:3

—— chain:4



value

mean

2.26

2.24 -

|

2.22 -

2.20 1

50%

2.26

2.24 -

2.22 1

2.20 1

-16

theta[3]

sd

0.110+

0.105 -

0.100+

0.095 -~

97.5%

2.44 -

2.43

2.42

2.41 -

2.40 -

-16

9 -6
log10(abs_tol)

2.5%

2.050

2.025 -+

2.000+

1.975 -

chains

—— chain:1
—— chain:2
—— chain:3

—— chain:4



value

mean

1.638

1.635+

1.632 -

1.629+

50%

1.640 -

1.636 -

1.632 -

1.628 -

-16

0.049 -

0.047 -

0.045 -

1.730-

1.725 -

1.720 -

1.715-

1.710-

1.705

theta[4]

sd

97.5%

-16

9 -6
log10(abs_tol)

2.5%

1.545+

1.540 -

1.535 -

1.530 -

1.525 -

chains

—— chain:1
—— chain:2
—— chain:3

—— chain:4



value

mean

3.688 -

3.686

3.684 -

3.682

50%

3.688 -

3.686

3.684 -

3.682 1

-16

theta[5]

sd

0.036 -

0.035-

0.034 -

0.033 -

0.032

0.031 -

97.5%

3.752

3.748 -

3.744 -

9 -6
log10(abs_tol)

2.5%

3.625

3.620 -

3.615

3.610 1

chains

—— chain:1
—— chain:2
—— chain:3

—— chain:4



value

mean

0.276 1 &

0.274 4

0.272 -

50%

0.276

0.274 4

0.272 4

0.270+

0.268

-16

omegall]

0.036 -

0.034 -

0.032 -

0.030

97.5%

0.365 -

0.360 -

0.355 -

0.350 -

0.345 -

0.340-

9 -6
log10(abs_tol)

2.5%

0.220 1

0.216

0.212

0.208 -

chains

—— chain:1
—— chain:2
—— chain:3

—— chain:4



value

mean
0.385-
0.380 -
0.375-
50%
0.384-
0.380 -
0.376-
16 9 6 -3-2

omegal2]

0.0450

0.0425

0.0400 -

0.0375

0.0350 -

97.5%

0.49 -

0.48 1

0.47 -

0.46 -

0.45

9 -6
log10(abs_tol)

2.5%

0.315+

0.310+

0.305 -

chains

—— chain:1
—— chain:2
—— chain:3

—— chain:4



mean

0.1992 -

0.1984

0.1990
0.1988 -
0.1986 -

value

50%

0.19875 -

0.19850 -

0.19900 - (////////////*\\\\\“/////\\

-16

sigma

0.0060 -

0.0056 -

0.0052 -

0.0048 ~

97.5%

0.212 4

0.211 -

0.210 -

0.209 ~

0.208 -

16

_Ig

_I6

log10(abs_tol)

-3-2

2.5%

0.189 -

0.188

0.187 -

chains

—— chain:1
—— chain:2
—— chain:3

—— chain:4



value

=~
|m

1.38 - .
0.145 111-
1.08 -
0.135-
1.34 1 1.05-
0.130 - chains
—— chain:1
1.38 -
1.65 -
1.36 1
1.63 -
1.34 - 1.61 -

_16 9 6 -3-2 _16 9 & -3-2
log10(abs_tol)

chain:2

chain:3

4]

chain:4




V1

9.6 -

9.5

9.4 -

9.3

9.2 7

9.1

value

9.6

9.4 1

9.2 7

@
16 9 6 -3-2

I
11.5+
11.4 -
11.3
11.2 1
11.1+

11.0

1.00
0.95-
0.90 -

-16 9 -6 -3-2
log10(abs_tol)

7.8+

7.6

7.4+

7.2+

4|

chains

——

4]

chain:1
chain:2
chain:3

chain:4



40.0

39.9 1
39.8 1

1.45+

1.40~

1.35-

1.30 -

1.25+

V2

value

&

40.0
39.9-
39.8 -

42.6 -

42.4-

42.2 -

_16 9 6 -3-2

log10(abs_tol)

37.6 1

37.4+

37.24

37.0-

chains

——

4]

chain:1
chain:2
chain:3

chain:4



value

5.15
5.14 - 005 - 4.68 -
5.13 1
5.12 0.24 - 4.65 -
5.11+
4.62
0.23-
5.10- chains
4.59 - —— chain:1
5.65-
5.14 -
5.60 -
5.12 1
5.55 -
5.10

16 9 -6 -3-2 _16 9 6 -3-2
log10(abs_tol)

chain:2

chain:3

4]

chain:4




value

mean

1.050 -

1.045 -~

1.040

1.035

1.030

50%

1.050 -

1.045

1.040 -

1.035

-16

CL

0.0475

0.0450

0.0425

0.0400

97.5%

1.1354

1.130+

1.125+

1.120+

-16

-9 -6
log10(abs_tol)

-3-2

2.5%

0.97 -

0.96 -

0.95 -

0.94 4

chains

—— chain:1
—— chain:2
—— chain:3

—— chain:4



value

mean

679 -

678 -

677 -

676 -

675 -

50%

679 -

678 -

677 -

676 -

675 -

-16

Ip__

11.25

11.00

10.75

10.50 4

10.25 -

10.00 -

97.5%

700 -

698 -

696 -

694 -

16 9 -6 -3-2
log10(abs_tol)

2.5%

657 -

656 -

655 -

654 -

653 -

chains

—— chain:1
—— chain:2
—— chain:3

—— chain:4



